L.O. : | can read and interpret Line-Graphs.

Fluency:

2/6/2020

The graph shows the temperature in somebody’s garden.

1 a) What was the temperature at 5pm?

1 b) What was the difference in temperature between 3pm and 7pm?

1 ¢) When was the temperature 4°C?

1 d) Estimate the time when the temperature was 0°C.
1 e) Estimate the temperature at 6pm.

Temperature (*C)

This graph shows the change in population.
2 a) What was the population in 1985?
2 b) How much did the population grow between 1990 and 20107
2 ¢) When was the population double the population of 19857
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Reasoning:

3) Answer the following questions.
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1) How many more cars did Ace Motors L N~
. . . 1,000 — L o
sell than Briggs in April?
2) For the first 3 months of the year 500—
compare the total sales for each 0
company. Who sold more and b | | I | I
pany. Y Jan Feb Mar Apr May
how many? :
3) Crooks Motors sold 250 more cars
than Briggs each month. Plot their
sales on the graph.
Diving deeper:
4) Match the graphs and activities. Explain how you know.
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